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OJlsEsl FAH 424 4,000
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O Jl&&Hl 2+ & |X 2el 20,000
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= 16,100
Al 1,517,400
ELFTA 2E(=1) 28,000 32,000 24,000
= 7,000
Al 21,000
101 @12A4H| 14,400 19,200 24,800
= 3,600
Al 10,800
04 JIZtNZ22 XS 2+ 14,400 19,200 24,800
O ELAFA ESNRMF 25
90,0002 x1H*252 6 13,500
= 3.375
Al 10,125
O LAIMEIR 42 s
150,0003 x 12 +60H & 900
= 225
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201 ger= 3| 10,000 10,000 0
= 2,500
Al 7,500
02 s3=gbl 10,000 10,000 0
O H= ¥ HIIZ HMcl, 24&H |2l 10,000
= 2,500
Al 7,500
207 ARl 3,600 2,800 800
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Al 2,700
ExAHFL 2Y 85,000 85,000 0
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405 AtatsE = 20,000 20,000
01 TR ESFISHI 20,000 20,000
O Uate Al d e 20,000
IEER B £F(F1) 8,000 23,000 215,000
= 4,000
Al 4,000
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Al 2,400
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lhl=sE =38 oY
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207 ARl 3,200 1,000 2,200
= 1,600
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03 Al 2HI 3,200 1,000 2,200
O ZABIE & 7 3,200
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207 ARl 20,000 40,000 220,000
03 Alg 32t 20,000 40,000 A20,000
O AMERE 88X, RIIEHIE s ME #¢ 20,000
netds AEHFAAE 2B 30,000 40,000 10,000
401 AIZHIX S0 20,000 20,000 0
01 AlZH| 20,000 20,000 0
O oA & 24 2= SAL S 20,000
405 AtatE = 10,000 20,000 10,000
01 Tt =S F=HI 10,000 20,000 10,000
O &SAERE ARE HHl S 10,000
dols o2 ¥ s 2E(21) 17,000 17,000 0
= 5,100
Al 11,900
101 @124H| 16,000 16,000 0
= 4,800
Al 11,200
04 JIZtN2 2N S 2+ 16,000 16,000 0
O HZEe¥ Y
80,0002« 12 *252«8IH & 16,000
= 4,800
Al 11,200
207 ARl 1,000 1,000 0
= 300
Al 700
03 Alg 32t 1,000 1,000 0
O A&, B, o8&, SIS
100,000& %105 1,000
= 300
Al 700
JIZHst S MAS &5 H-IHE 16,000 19,000 A3,000
201 =3 8,000 4,000 4,000
01 At22t2l] 5,000 2,000 3,000
O BE, d7210AM, 4224 s M 5,000
2 352484l 3,000 2,000 1,000
O AlE & EHl | 2¢cl 3,000
207 ARl 8,000 15,000 /7,000
03 Al -2HI 8,000 15,000 AT7,000
O i, =J18dlg, 23HE S sAN +
o 8,000
CASY =2AS UEE JIsEs2 10,000 10,000 0
201 =3 4,000 4,000
01 At22t2lt] 4,000 4,000
O SA=g il & ZME S 4,000
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207 ARl 3,000 3,000
03 Alg 32t 3,000 3,000
O d&, S, RIIEtlz S 3,000
301 LEtE N = 3,000 3,000
11 #AIAHIXIZ S 3,000 3,000
O uUsd ool & 8832048 3,000
ZEd OlROtEEA ==l ASHA 40,000 500,000 460,000
207 ARl 40,000 40,000 0
03 Al 2t 40,000 40,000 0
O H2(UHF) & & 22K 40,000
OtATRCEHA SETHHHE X 7= SIS THHK 30,000 25,000 5,000
402 QI+ X201 & 30,000 0 30,000
01 QIZEXHE2 AL 2 (REHITH ) 30,000 0 30,000
O OtAmtetAHA sIHA STHEH
30,000,000 *1IH 2 30,000
LAASLEMEOE 29 286,800 336,800 50,000
101 21A4H| 72,800 72,800 0
04 JIZtN2Z2 XS 72,800 72,800 0
O tHsttEMEiE 898 JI2EH22 4
IAbI(&E)
90,0002 x2S *x25 2«8 36,000
O tEsttENE0E 28 JIZN22 A
QUAHI (L)
80,0002 x2&H 25«81 32,000
O MgsitEHElE 28 222N 4
2= 150,000 x4 +8IH & 4,800
201 er2 3| 84,000 84,000
01 AtR2te|HI 20,000 20,000
ZHUY ===, SHOIX Bal(2el), &
B X =2, E2= A S 20,000
2 S5=2g4l 64,000 64,000 0
O 38323, 2=+HE S 34,000
O @+xMcl2eliid, CCTVeAlZel, A=
ol S 30,000
206 MH=H| 20,000 20,000
01 M=4l 20,000 20,000
O IS (EEIF, 28+ 8) X, 28
ASESH S JIEH s 20,000
401 Al HIZL S 0HYI 100,000 150,000 /50,000
01 Al&HI 100,000 150,000 50,000
O =8s NSRH, 24 2292 S 20
A& A 100,000
405 KHaHF S| 10,000 10,000
01 ML ESFSHI 10,000 10,000
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B SUAWL JNS B ISP LH(SHLY/5Y - 5E)
el SeRs H0HE 22 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| OA& 2927 =) s 2 10,000
dastslaEe 2o 422,400 488,800 86,400
101 ©1218)| 218,400 254,800 A36,400
MU IIRINZZENSES 218,400 254,800 236,400
O HEsgaEe 2% JIZH22N o
bl (&) 90,0003 6 +252 =8N = 108,000
O MUstsRIEle 2 JZH22T o
Ie=-1)) 80,0002 «6&*x25 2«8 96,000
O JIZHZEXS 40 282
150,000+ 12881 2 14,400
201 Yereely| 84,000 84,000
01 Ar2teltl 36,000 36,000
O oM Mol P2, 22, QUEE, F
HI%, 8% 248 S 3,000
2 s3234| 48,000 48,000 0
O I, BHI, AlEE 2 - $4 S 48,000
206 M=l 40,000 70,000 A30,000
01 =8l 40,000 70,000 30,000
O MEes, JBAS(2E, X 5), 52
A2, H2E5H, JIEsIU S 40,000
401 AIZHIX 20HH 50,000 50,000
01 Al&H| 50,000 50,000
O YUY O3 8, BHAIE BH S 50,000
405 AtaHE = 30,000 30,000
01 AL =S F=H 30,000 30,000
O 0231, =0, A& 28 27 5 30,000
SHFR0) Als2e| 29 141,500 267,500 A126,000
101 2IAH| 24,500 24,500 0
M IItHZZ2NHSE 24,500 24,500 0
O S=20I(8) AST2| JI2HZ2XHET)
90, 0002 12 x252+ 1001 2 22,500
O 20| ARz JIH22N 4282
200,000 x1&*100H 2 2,000
201 2Bt ] 7,000 10,000 A3,000
01 Al 221H| 7,000 10,000 3,000
O 828, QUHEE, ZH A% $48 5 7,000
206 MH=HI 10,000 30,000 220,000
01 =8l 10,000 30,000 A20,000
O =201, 10U, JIet =8 "0l s 10,000
401 AIZHIX 20HH 100,000 193,000 83,000
01 Al&H| 100,000 193,000 A93,000
O 24 =4 3M 100,000
USE sHME da JsXR 4,589,575 3,015,386 1,574,189
= 726,250
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O NAEHE ZMA €52 70,000
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Al 15,000
402 2I2E X201 & 30,000 0 30,000
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Al 15,000
02 QIZHXHZ AL E (01X THE) 30,000 0 30,000
O EZax=)|, s S 30,000
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Al 15,000
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Al 100,000
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Al 100,000
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O s8], shkad I S 200,000
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